
SAP ABAP table JKSEINTERRUPT {IS-M: Suspensions}

JKSEINTERRUPT

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

ID [RAW (16)]

REASONCODE [CHAR (2)]

T000

MANDT [CLNT (3)]
 JKSEINTERRUPT-MANDT = T000-MANDT 

0..N

1

TJKSEINTERRUPT

MANDT [CLNT (3)]

RESAON [CHAR (2)]

 JKSEINTERRUPT-REASONCODE = TJKSEINTERRUPT-RESAON 
0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 JKSEINTERRUPT-VBELN = VBUK-VBELN 

0..N

1

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 JKSEINTERRUPT-POSNR = VBUP-POSNR 

0..N

1


